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284 | 18,318 7.3| 7,570, -3.5| 2.42. — | 51,044 8.2| 30,004 -4.9| 1.70 —
295 18,792 2.6 7,274 -3.9| 2.58 — 53,176: 4.2| 29,312 -2.3| 1.81 —
S0 E 19,453 3.5/ 6,751 -7.2| 2.88 — 55,559: 4.5| 27,975 -4.6/ 1.99 —
JTTEE 18,639 -4.2| 6,52] -3.3| 2.86 — 93,908: -3.0| 27,022 -3.4| 1.99 —
24EfE | 14,801 -20.6| 6,347 -2.8| 2.33 — | 42,258 -21.6| 28,834 6.7| 1.47 —
31/1~3| 20,036 0.1| 6,947 -7.4| 2.88 2.91| 56,944 2.3| 26,663 -4.4| 2.14 2.01
31/4~6| 19,125 -0.1| 7,513: -3.0| 2.55! 2.95] 55,545: 2.0| 28,840: -4.6/ 1.93: 2.08
gt/ 7~9]| 18,767 -2.0| 6,386 0.4| 2.94. 2.91| 53,929 -0.9| 27,622. -1.0| 1.95 2.03
5t/10~12| 18,616. -4.4| 5 714 -3.9| 3.26 2.81| 54,290. -3.8| 25,966, -4.1| 2.09 1.98
2/1~3 | 18,048 -9.9| 6,493 -6.5| 2.78 2.79| 51,869 -8.9| 25,662 -3.8/ 2.02 1.89
2/4~6 | 14,065 -26.5| 7,073 -5.9| 1.99: 2. 31| 42,004: -24. 4| 27,751: -3.8| 1.51: 1.64
2/7~9 | 14,205 -24. 3| 6,123 -4.1| 2.32: 2.35| 40,030: -25.8| 29,069 5.2 1.38 1.43
2/10~12 || 15,331: -17.6| 5,488 -4.0| 2.79: 2.42| 43,406 -20.0| 29,330 13.0( 1.48 1.40
3/1~3 | 15,604: -13.5| 6,704 3.3 2.33: 2.28| 43,591: -16.0| 29,185 13.7| 1.49: 1.40
S1EE4 A || 19,457 0.8 8,823 -3.9| 2.21 2.98| 56,297 3.6 28,602, -5.7| 1.97. 2.10
STESA| 20,006 -0.7| 7,279 -2.4| 2.75 2.92| 55,446 0.9| 29,204 -5.1| 1.90 2.07
68| 17,912 -0.3| 6,438 -2.6| 2.78 2.94| 54,891 1.7| 28,713 -3.1| 1.91 2.07
7R 19,389 6.0[ 6,763 12.0] 2.87: 2.92| 54, 352 1.5| 28, 322 1.5] 1.92. 2.04
8H | 18,510 -11.0] 5,826 -15.7| 3.18: 3.00| 53,253 -2.4| 27,2320 -3.2| 1.96: 2.02
9 R | 18,401 0.3 6,569 7.0| 2.80: 2.82| 54,183 -1.6| 27,311: -1.4| 1.98 2.01
10A | 20,019 1.1 6,803: -4.1| 2.94 2.80] 55,103: -2.7| 27,375 -4.2| 2.01 1.99
11A | 18,812: -11.4, 5,480 -6.9| 3.43 2.80] 54,544 -4.3| 26,150 -4.3| 2.09: 1.99
128 | 17,017 -2.2| 4,860 0.0| 3.50 2.84| 53,222 -4.5| 24,373 -4.0| 2.18 1.97
2% 18| 18,681, -7.0/ 7,034 -3.7| 2.66 2.69| 51,748 -8.2| 25,074 -3.5| 2.06 1.91
2R | 18,586: -13.4| 6,011 -11.4| 3.09: 2.93| 52,236: -8.7| 25,591 -4.2| 2.04: 1.90
3H| 16,876: -9.2| 6,434 -4 7| 2.62: 2.75| 51,624 -9.8| 26,322. -3.5| 1.96: 1.86
2F 48| 14,646: -24.7| 8,267 -6.3| 1.77 2.35| 45,998 -18.3| 27,587 -3.5| 1.67 1.77
5RH| 13,375 -33.1| 6,059 -16.8| 2.21: 2.31| 40,376 -27.2| 27,447 -6.0| 1.47: 1.60
6 R | 14,174 -20.9| 6,892 7.1 2.06: 2.28| 39,639 -27.8| 28,218 -1.7| 1.40: 1.55
78| 14,451 -25.5| 6,461 -4.5| 2.24 2.32| 39,541 -27.3| 28,585 0.9 1.38 1.48
8H | 14,047 -24.1| 5,655 -2.9| 2.48 2. 41| 40,012 -24.9| 28,804 5.8 1.39 1.43
OR | 14,116 -23.3| 6,252: -4.8| 2.26: 2.32| 40,537 -25.2| 29,817° 9.2| 1.36: 1.39
10A | 17,291: -13.6| 6,457 -5.1| 2.68 2.46] 43,6334: -21.4| 30,406: 11.1| 1.43 1.41
11A | 14,951: -20.5| 5,259 -4.0| 2.84: 2.42| 43,769 -19.8| 29,458 12.7| 1.49 1.40
12A | 13,751: -19.2| 4,749 -2.3| 2.90 2.38] 43,116: -19.0( 28,125 15.4| 1.53: 1.39
SE1H| 16,849 -9.8| 6,473 -8.0| 2.60 2.48]| 43,470 -16.0| 28,197 12.5| 1.54 1.41
28| 15,065 -18.9| 6,380 6.3| 2.36 2.28| 43,856 -16.0| 28,936 13.1| 1.52: 1.42
3B | 14,898 -11.7| 7,251 12.7| 2.05 2. 11| 43,447 -15.8| 30,423 15.6| 1.43 1.37
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284 E 2,829 -4.3| 37.4 127 0.9 549: 2.9] 1,744 1.7 23.01 7,544 -1.9 25.1
294 E 2,7090 -4.2| 37.2 14 -1.7[ 557 1.5] 1,769 1.4 24.3| 7,683 1.8 26.2
S0FE 2,467: -8.9| 36.5 6/8: -5.1| 573 2.9 1,760: -0.5: 26.1| 7,755 0.9 27.7
TTEE 2,2400 -9.2| 34.3 641: -5.4| 556: -3.1| 1,835 4.3 28.1| 1,757 0.0 28.7
2 E 1,974 -11.9] 31.1 992: 7.7 505 -9.11 1,927 5.0: 30.4| 8,97/6: 15.7 31.1
31/1~3| 2,502 -9.5| 36.0 646: -3.1| 625 2.6] 1,793: -3.0: 25.8| 7,271 -0.9 2].3
31/4~6| 2,4400 -10.4| 32.5 684: -2.3| 5720 -6.4] 2,234 2.3 29.7| 8,451 -3.0. 29.3
T/ 7~9| 2,244 -1.0| 35.1 689: 2.8/ 536 4.1 1,675 6.7 26.2| 7,715 1.00 27.9
jt/10~12| 2,180 -8.3| 38.1 644 -7.3| 558: 3.1 1,%544: 3.5 27.0{ 7,295 -1.3 28.1
2/1~3 2,097: -16.2| 32.3 048: -15.2( 556: -11.1| 1,887: 5.2: 29.1| 7,565 4.0 29.5
2/ 4 ~6 1,976: -19.0] 27.9 538 -21.4| 474 -17.2| 2,249 0.6: 31.8| 8,777 3.8 31.6
2/7 ~9 1,923: -14.3| 31.4 627: -9.0{ 485 -9.6|/ 1,736, 3.6 28.3] 8,781 13.8 30.2
2/10~12 1,902: -12.8| 34.7 613: -4.8| 493 -11.6| 1,614 4.5 29.4] 9,035 23.8 30.8
3/1~3 2,093: -0.2| 31.2 989 7.5 569: 2.3] 2,109 11.7 31.5] 9,312 23.1: 31.9
314 R 2,496: -8.0| 28.3 614: -2.8/ 566 -9.0f 2,978 -1.2 33.8] 8,350 4.2 29.2
JTFES5AH 2,426: -12.8| 33.3 7129 -3.3| 589: -5.8] 2,054: 8.2 28.2| 8,585 -3.3 29.4
6 A 2,399: -10.3| 37.3 7100 -0.8| 561: -4.3] 1,671 1.8 26.0/ 8,419 -1.6 29.3
7 H 2,382 5.3 35.2 134: 14.7| 588 13.5| 1,817 23.9: 26.9| 7,994 4.4 28.2
8 A 1,976: -9.1| 33.9 617: -4.6| 469 -2.7| 1,505 -11.2: 25.8| 1,541 -1.6 21.1
9 R 2,374 0.4 36.1 116: -1.0[ 551 1.3] 1,704: 9.9 25.9| 7,604: 0.3 27.8
10H 2, 401 -8.2| 35.3 123: -9.3| 628 3.8| 1,834 2.7: 27.01 7,672 -1.9: 28.0
11H 2,222. -9.2| 40.5 661: -7.7 9556 -0.2| 1,492 3.8 27.2| 7,368 -0.6 28.2
12H 1,917: -7.4] 39.4 od4]: 4.2 491 6.3 1,307 4.1 26.9| 6,845 -1.4. 28.1
2% 1HA 1, 711 -9.6| 25.2 000 -8.1| 482 4.1 2,121 8.7 30.21 17,213 1.1: 29.0
2 A 2,064 -18.7| 34.3 543 -16.7| 545 -16.8| 1,756 0.4 29.2| 7,573 3.7: 29.6
3H 2,456 -18.3| 38.2 601: -19.0{ 641 -15.4] 1,785 6.3 27.7| 7,850 7.1 29.8
2% 4 A 2,2100 -11.5| 26.7 937 -12.5| 530! -6.4| 2,878 -3.4 34.8/ 8,680 4.0: 31.5
5H 1,692: -30.3| 27.9 478 -34.4| 407:-30.9| 1,868 -9.1 30.8| 8, 711 1.5 31.17
6 A 2,027 -15.5| 29.4 999 -15.6| 484 -13.7| 2,000 19.7: 29.0| 8,939 6.2} 31.7
7 H 2,043: -14.2| 31.6 647 -11.9| 521: -11.4] 1,893: 4.2 29.3| 8,728 9.2 30.5
8 A 1,710. -13.5| 30.2 ol2: -1.3| 419: -10.71 1,578 4.9 27.9| 8,663 14.8 30.1
9 H 2,016 -15.1| 32.2 663: -7.4| 514 -6.7| 1,736 1.9: 27.8] 8,953 17.7: 30.0
10H 2,167: -9.7| 33.6 696: -3.7| 543 -13.5| 1,983 8.1 30.7{ 9,286 21.0. 30.5
114 1,828: —-17.7| 34.8 602: -8.9| 494 -11.2| 1,475 -1.1: 28.0{ 9,078 23.2 30.8
1,711: -10.7| 36.0 °o41: -1.1| 443: -9.8| 1,383 5.8 29.1| 8,740 27.7: 31.1
3% 1A 1,568: —-11.5| 24.2 496 -0.8| 411:-14.7{ 2,017: -4.9 31.2| 8,864 21.9 31.4
2 A 2,094 1.5 32.8 611 12.5 565 3.7 2,014} 14.7 31.5| 9,229 21.9 31.9
3 A 2,617 6.6/ 36.1 661 10.0/ 731: 14.0]1 2,296: 28.6: 31.7| 9,843 25.4 32.4
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